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237 [ A7H% Tl 93 We) T4 |
a =40°, B = 20°
P=60N, @=80N, &§=120N
R, = P+ @ cosa + 8 sina

(60 N) + (80 N) cos40° + (120 N) sin40°

19841 N

R, = @ sina — § cosa

(80 N) sin40° - (120 N) cos40°

-40.50 N

= /(198.41 N )2+ (—40.50 N)?> = 202.5 N

R =203 N ~8.46°

R, —4050 _
tang = R 10841 0.2041
¢ = tan 1(-0.2041) = -11.54°
0 =5+ ¢=(20° + (-11.54°) = 8.46° >
240 [ AZH3% el oa 3o 4 1]
P=500N, Q=200N
cosa = 24 cosfB = —, cosy = 0-96
¢ 95 T 146
sina = T sing = =, siny = 110
TR 50 ST 146
(@) R is horizontal = R, =0
Rl/ = PU + QU + Tl/
_ 7 _ 3 110 _
= 95 (5600 N) 5 (200 N) 146 T7=20
1.46
= T = m[(lllo N) - (120 N)] = 26.54 N

= T =2065N

( b ) 'R.’I,’ = 'Pfl,' + Qfl,' + Z—:I,'

24 4 0.96
g(5OO N) + 3(200 N) m(26.54 N)

(480 N) + (160 N) - (17.45 N) = 622.5 N
= R =0623N




